
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



6 

 
 
 
 

Find the number that completes the final set of numbers in the same way as 

the first two sets. 

 

Example: 24 (14) 10 15 (9) 6 8 ( _____ ) 2 

 

1. 3 (18) 6                    5 (35) 7                 4 (      ) 4 

 

 

2. 2 (8) 18                   12 (5) 22               3 ( __ ) 17 

 

 

3. 13 (21) 29               17(11)5                 4(      ) 8 

  

 

4. 5 (21) 4                    9(28)3                  6(      )2 

 

 

5. 1 (17) 7                   4(13)2                   5(    )4     

 

 

6. 3 (20) 6                    5 (37) 7                 5 (      ) 4 

 

 

7. 2 (10) 22                  12 (5) 22               3 ( __ ) 21 

 

 

8. 11 (15) 19               17(12) 7               13 (      ) 16 

  



 

9. 5 (26) 5                    9(46)5                  5(      )7 

 

 

10. 2 (15) 5                  4(21)6                  7(    )4     

 

 

11. 4 (26) 6                    3(26) 8                 2 (      ) 12 

 

 

12. 4 (9) 22                  12 (9) 30              9 ( __ ) 27 

 

 

13. 13 (12) 11               17(12) 7               8 (      ) 12 

  

 

14. 6 (31) 5                   3(16)5                  8 (      )7 

 

 

15. 3 (17) 5                  7(27)6                 5(    )4     



 

 



 



 
 
 



71. 3 (18) 6 
 

72. 2 (8) 18 
 

73. 13 (21) 29 
 

74. 5 (21) 4 
 

75. 1 (17) 7 



5 (35) 7 
 
12 (5) 22 
 
17 (11) 5 
 
9 (28) 3 
 
4 (13) 2 



4 ( _____ ) 4 
 
3 ( _____ ) 17 
 
4 ( _____ ) 8 
 
6 ( _____ ) 2 
5 ( _____ ) 4 


